Oops! There are some mistakes here!

1. Cut out the multiplication and stick it in your book.

2. Explain in words what is incorrect about each calculation (look at the example)

3. Do the calculation correctly!

235 x 45

	
	
	8
	0
	0

	
	1
	2
	0
	0

	
	1
	0
	0
	0

	
	
	2
	0
	0

	
	
	1
	5
	0

	
	
	
	2
	5

	
	4
	3
	7
	5

	
	2
	
	
	


	
	200
	30
	5

	  40
	800
	1200
	200

	5
	1000
	150
	25



This number is ten times too small!
Corrected:


	
	200
	30
	5

	  40
	8000
	1200
	200

	5
	1000
	150
	25

	
	8
	0
	0
	0

	
	1
	2
	0
	0

	
	1
	0
	0
	0

	
	
	2
	0
	0

	
	
	1
	5
	0

	
	
	
	2
	5

	1
	0
	5
	7
	5


Now correct these: Careful! There may be more than one mistake!
	264 x 37

6

0

0

1

8

0

1

2

1

4

0

4

2

0

2

8

1

2

7

0

200

60

4

3

600

180

12

7

140

420

28



	1020 x 45


4
0
0
0
8
0
0
5
0
2
5
4
8
7
5
10
20
40
4000
800
5
50
25


	6
0
0
4
0
2
0
0
1
8
0
0
1
2
0
1
2
2
7
7
2
1
322 x 26
300
20
2
20
600
40
200
6
1800
120
12



Oops! There are some mistakes here! (answers)
4. Cut out the multiplication and stick it in your book.

5. Explain in words what is incorrect about each calculation (look at the example)

6. Do the calculation correctly!

235 x 45

	
	
	8
	0
	0

	
	1
	2
	0
	0

	
	1
	0
	0
	0

	
	
	2
	0
	0

	
	
	1
	5
	0

	
	
	
	2
	5

	
	4
	3
	7
	5

	
	2
	
	
	


	
	200
	30
	5

	  40
	800
	1200
	200

	5
	1000
	150
	25



This number is ten times too small!
Corrected:


	
	200
	30
	5

	  40
	8000
	1200
	200

	5
	1000
	150
	25

	
	8
	0
	0
	0

	
	1
	2
	0
	0

	
	1
	0
	0
	0

	
	
	2
	0
	0

	
	
	1
	5
	0

	
	
	
	2
	5

	1
	0
	5
	7
	5


Now correct these: Careful! There may be more than one mistake!

	264 x 37 = 9768

errors:

· Incorrect partitioning

· Incorrect x by 10

6

0

0

1

8

0

1

2

1

4

0

4

2

0

2

8

1

2

7

0

200

60

4

30
6000
1800
120
7

1400
420

28



	1020 x 45  = 45900

4
0
0
0
8
0
0
5
0
2
5
4
8
7
5
incorrect partitioning

incorrect multiplication 20+5 

instead of 20 x 5

1000
20
40
40000
800
5
5000
100


	6
0
0
4
0
2
0
0
1
8
0
0
1
2
0
1
2
2
7
7
2
1
322 x 26 = 8372

20+20 instead of 20x20

20x2 = 200 instead of 40

incorrect x10 for 20x300

300
20
2
20
600
400
40
6
1800
120
12



